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GENEREL ARRANGEMENTS

M/S «cMERCANDIAN IMPORTER»
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M/S MERCANDIAN IMPORTER

Distinctive letters : OUSX

Owner : PART OWNERSHIP BY PER HENRIKSEN

Manager : MERCANDIA REDERIERNE K@GBENHAVN

Port of Registry : K@BENHAVN

Built by : FREDRIKSHAVN VZARFT, A/SIN 1974
CLASS

DET NORSKE VERITAS; 1A1, ICEC

FITTED FOR BULK GRAIN AND TIMBER LOAD. TIMBER ABT. 550 STDS. IN HOLDS. CEILING
ON TANK TOP 3" TIMBER. CARGO BATTENS IN LOWER HOLD 80 mm AND IN TWEEN DECK
80 mm.

ONE 20 T DECK CRANE
TWO 30 T DECK CRANE

HYDRAULIC CAPSTAN AND SPLIT WINDLASS
ELECTRICAL HYDRAULIC STEERING GEER

HOLD VENTILATION
25 AIRCHANGES PR. HOUR IN EMPTY HOLDS

PROPELLER MACHINERY
ONE ALPHA DIESEL ENGINE TYPE 16 V 23 HU 2000 BHK AT 800 RPM THROUGH GIR
COUPLED TO CONTROLLABLE PITCH PROPELLER
ENGINE AND CP PROPELLER ARE OPERATED FROM THE BRIDGE

AUXILLARY ENGINE PLANT
THREE MERCEDES-BENZ DIESEL ENGINES TYPE OM 360, EACH OF 119 BHK AT 1800 RPM
EACH ENGINE COUPLED TO A 90 KVA GENERATOR

NAVIGATION EQUIPMENT
SKANTI-400 W PEP. IF/HF-SSB RADIOTELEPHONE
EDDYSTONE TYPE EC-10 TELEPHONY RECEIVER
AUTOMATIC DIRECTION FINDER
ECHOSOUNDER
RADAR
GYROCOMPASS
AUTOPILOT
STORNO VHF 28 CHANNELS
INTERCOMMUNICATION SYSTEM



PRINCIPAL PARTICULARS LIGHT SHIP
Length over all 78,50 m Displacement 1060,0 t
Length between perpendiculars 70,80 m VCG above BL 570 m
Breadth moulded 13,00 m LCG from Ap 30,52 m
Depth moulded to 1st. deck 7,00 m Draught "even" 1,70 m
Depth moulded to 2nd. deck 4,00 m
Draught on summer freeboard 574 m
IDENTIFICATION DIMENTION
Length 75,70 m
Breadth 13,02 m
Depth 570 m
INTERNATIONAL LOAD LINE
SONE Freeboard Draught Deadweight | Displacement
(m) (m) (t) (t)
Tropical Fresh Water TF 1,041 5,980
Fresh Water F 1,160 5,861
Tropical TF 1,163 5,858 3154 4214
Summer S 1,282 5,739 3 050 4110
Winter w 1,401 5,620 2 954 4014
Winter N. Atlantic WNA 1,451 5,570 2910 3970
FREEBOARD MARK
TF
119
D L 122
All measures in mm "JNﬂ;—L
TONNAGE
Intern. Panama Suez
Gross Tonnage 1 599,98 1819,46 1774,14
Net Tonnage 997,99 1256,51 1296,17




CARGO HOLDS

HOLD CAPASITIES Grain Bales ves Icg
(m3) (m3) (m) (m)
Hatch No 1 181,0 181,0 7,70 51,55
Tween deck No 1 942,0 830,0 5,53 51,69
Hold No 1 680,0 589,0 2,81 50,28
Total No1l 1803,0 1600,0 4,72 51,14
HOLD CAPASITIES Grain Bales ves Icg
(m3) (m3) (m) (m)
Hatch No 2 187,0 187,0 7,70 26,23
Tween deck No 2 980,0 862,0 5,50 26,27
Hold No 2 833,0 731,0 2,70 26,51
Total No 2 2000,0 1780,0 4,54 26,37
PERMISSIBLE LOADS FOR DECK AND HATCHES (t/m2)
1st. deck 1,50
No 1 and No 2 hatches on 1st. Deck 1,50
2nd. Deck 2,60
No 1 and No 2 hatches on 2nd. deck 2,94
Double bottom 5,00
SECTION FRAME NO. 55:
Hatch on 1.st deck
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TANK CAPACITIES

FRESH WATER Frame Capacities vcg Icg tcg Fs.M.
o = 1,000t/m3 (m3) (t) (m) (m) (m) (tm)
No 6 P/S 22-37 61,9 61,9 0,72 18,61 | +4,00 70,0
FUEL OIL Erame Capacities vcg Icg tcg Fs.M.
p =0830t/m3 (m3) (t) (m) (m) (m) (tm)
CT2 P/S 64-79 49,3 41,0 0,65 43,62 +1,10 13,2
CT3 P/S 49 - 64 49,3 40,9 0,65 34,47 | +£1,10 13,2
No 4 P/S 49 - 64 83,8 69,5 0,71 34,42| 14,40 95,1
No 7 P/S 13-21 55,5 46,0 1,04 10,45| 2,00 20,6
Settl. Tank P/S 16- 22 21,0 17,4 3,10 11,83 | 4,40 4
Serv. Tank AFT 8,0 6,6 6,56 11,27 - 1,3
Serv. Tank FWD 0,6 0,5 8,70 65,46 - 0
Total 267,5 221,9 1,14 28,74
Consumption
Speed knots
Fuel Oil t/day
Fresh Water t/day
MISCELLANEOUS Frame Capacities vcg Icg tcg Fs.M.
(m3) (t) (m) (m) (m) (tm)
Lub Oil Tank 3,6 3,3 6,36 9,07 -
Waste Qil Tank 07-09 2,4 2,2 0,63 4,94 1,4
WATER BALLAST Frame Capacities vcg Icg tcg Fs.M.
p =1,025t/m3 (m3) (t) (m) (m) (m) (tm)
Fore Peak 109 - FW 111,4 114,2 3,84 68,97 - 150,7
No 1 P/S 93 -109 115,2 118,1 1,01 61,01 +2,00 101,7
No 2 P/S 79-93 66,8 68,5 0,89 52,65 4,00 45,7
No 3 P/S 64-79 77,0 78,9 0,71 43,63 | *4,40 97,4
No 5 P/S 37-49 67,4 69,1 0,72 26,28 4,40 97,7
No 1 CT 79-93 56,2 57,6 0,82 52,87 - 60,9
No 4 CT 37-49 39,5 40,5 0,65 26,23 - 52,2
No 5 CT 22 - 37 49,3 50,5 0,65 17,99 - 65,2
Aft Peak AFT - 07 56,8 58,2 5,02 2,06 - 262,4
Total 639,6 655,6 1,71 44,35
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KG-GRENSEKURVE

o
1111 g
| s 2/
~ (] ""
\ 7
A
/
N \ N Vi
\ /
\ "
o
n
wn
3
)
Q
©
C
(]
o(O
oo
o
>
()]
o
[¥p]
<
=
o
<
/
/A
o
0
(90]
A
A
v
’ ’
M ’
v
A
< A
A A o
S
(32}
R 8 2 g = 8 2 2 2
N N ) ) w wn < < <

11




TEU CONTAINER CAPACITY

NUMBER OF 20 FT CONTAINERS Max. vcg Icg
OF EQUAL WEIGHT IN HOLDS (t) (m) (m)
No 1 Hold 16x 20t 320,0 4,24 50,78
No 2 Hold 18x 20t 360,0 3,87 25,93
Total in Holds 680,0
NUMBER OF 20 FT CONTAINERS Max. vcg Icg
OF EQUAL WEIGHT ON DECK (t) (m) (m)
No 1 HATCH 9x 20t 180,0 9,60 51,55
No 2 HATCH 9x 20t 180,0 9,60 26,23
Total in Holds 360,0
Container length 20'00" Container height 8'06"
Container length 6,10m [Container height 2,60 m
BAY 05:
TIER 12
TIER 04
/L :\
TIER 02
ROW 02 ROW 00 ROW 01
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CONTAINER STOWAGE PLAN

No 2 No 1
BAY 11 BAY 09 BAY 07 BAY 05 BAY 03 BAY 01
| | |
TIER 04
\
: |
| |
S
:
=
(m) (m) (m) (m) (m) (m)
vcg above K 9,60 9,60 9,60 9,60 9,60 9,60
lcg from Ap 20,03 26,23 32,43 45,35 51,55 57,75
tcg from CL +2,50 +2,50 +2,50 +2,50 +2,50 +2,50
.
:
-
—
(m) (m) (m) (m) (m) (m)
vcg above K 5,10 5,10 5,10 5,10 5,70 5,70
Icg from Ap 20,03 26,23 32,43 45,35 51,55 57,75
tcg from CL +2,50 +2,50 +2,50 +2,50 +2,50 +2,50
g
:
-
(m) (m) (m) (m) (m) (m)
vcg above K 2,60 2,60 2,60 2,60 3,20 3,20
Icg from Ap 20,03 26,23 32,43 45,35 51,55 57,75
tcg from CL +2,50 +2,50 +2,50 +2,50 +2,50 +2,50
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BOMMENS VCG OG TCG VED L@FTING

Pos. 3 : betjener 20' containere for BAY 01 og 11
- rekker ikke ut for skutesiden
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HYDROSTATICS

d (M) draught at midship ("even)

Disp  (t)eeereererrernen. displacement

TPC  (t/cm)..cnne. change of displacement by 1 cm of draught

KMt (M) transverse metacentre height, above keel

LCB (M) longitudal centre of buoyancy, from Ap

LCF (M) longitudal centre of flotation, from midship (®),+ to aft
MTC (tm/cm).......... moment to change trim 1 cm

CROSSCURVES OF STABILITY

MoS-values for @ = 10°, 20°, 30°, 45°, 60° and 75°
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